Factorising Quadratics

Factorise the following (not forgetting the three stage process: first ‘numbers’, then

‘letters’ and only then ‘two brackets’).
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2 + 5z + 4.

2 4+ 5z + 6.

. x? +4x — 5.

. x? — bhr — 14.
. 2% — 102 + 16.
Cx? — 122 + 27.

242+ 1.
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. x°—x — 0.

a2 =09,

2 + 4z.
3z2 + 241 + 36.
222 + 14x — 36.

522 — 35z.

Tx3 + 2122 + 14x.

10z* — 9022
222 + 3z + 1.
32% + T+ 2.
3z — 1522,
S5x2 — 3x — 2.
422 + 122 + 9.
4% + 8z + 3.
622 + 232 + 7.
622 + 152 — 9.
2022 — 5.
4222 + TTx — 70.
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2(z — 3)(z + 3)

2z + 1)(z + 1)

3z + 1)(z + 2)

(z - 5)

5z + 2)(x — 1)
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